FASERATERRE 111 BREE R VUR — B A SBAABIRGE R S
E5 | 111 BERIUR _HEEARIENE MENERENSE -

FEEHE

1. SREVAEfEERIEREAEE 1 EER 1 EL ERARNAE) ~ 22 - AR 1114756 H (Ef=) 10:00 £ 11147 H 9 H ()
17:00 || - EREREHEZEEHAG UK _EHEHEZ S WS CsEEHEF (4t -
https://www.jctv.ntut.edu.tw/enterd2/apply/ ) - FLARMREHAE XS BEEETE » — B THE > SEBERIERS -

2. O _EBHEBHEZESHEAETMETSHEFETHE 58 » TAEKORHRIR - BHSZRKAFHRIBEZ S A BB RER
L (S ZE)NERE R ARG — £ RRERELBEEESZ £ BHER > LB ELHELTE -

3. BRESHEFS—oBERTA 11147 13 H (2#=) 10:00 AMER U —SHEmEZ S oL (484t -
https://www.jctv.ntut.edu.tw/enterd42/apply/ ) - 53 8F4ERBAHFIER T » EBRFE S BRIEABARATREREFE -

4. HEBRGRARSRE BEXEENSRT "HERNERETFFER NEEREREEEEARIBEEE - W AEERELCWE]
HE - AR T2 -

5. IEFEERENE » BEZLEMKZ LR () - BEBEFIGRE - FFREFNGET » IRSES—K4E - FHEELEDKE
AEEE -

411001--F4HR TH2 S (I AREE)

—REIER &5F 10 &
64010418 7% O ¥t 62010213 T Off 61010556 & O %2 65010119 5R Of& 59010005 ¥ Of&
56010071 # O A 61010552 5RO & 62010297 & O ik 56010100 [ O 7= 56010144 & O 7T



411002--H&1% T2 2@ IHEIRED)
411003--H 1k T2 S (BB T RFEEE)

57510019 B O = 57030161 20 &

411004--H8 1% TH2 2 LW TAZ4H (HRES)

56010111 5 O ¥# 56010224 21O ==

411005181 T2 A 00 TAZ4H @ IH8ES)

66020037 5= O £ 74020045 #£O?
67020080 #£ O 3£ 57020129 O

—RRAEIER &5t 3 &
57030189 7 O 751K

—RRAEIER &5F 5 &
54010175 # O 61010001 £ O

—REIER &5F 10 &

57020133 s Ol 56020108 5E O &
57020157 i O ¥& 58020014 % O 7R

411006--1418 T 12 £ E5 8 T R24H (R4 EE T EEEE)

52010492 52 O F

5602019470 £
56020148 $£ 0%



—RAEIER &5 2 &
52030004 FHOf& 57030056 7 O &

411007-- &R T2 2@ IHEIRED)

—RRAEIER &5 2 &
66020085 #4 O & 66020097 5& O #F

411008-- &R TR A (BIREE TR EER)
—{RAIER &3t 14 &

56040161 330 & 51040064 ;T.O 7% 56040371 Z 0= 73040040 58 O FF
56040216 #5 O % 58040051 ;T.O & 73040120 = O 4 58040117 EFO &
64040157 FRO & 73040108 $8 O & 57040367 #k O 5% 56040264 &5 Ol

411009-- &R TR A FEREEHET)

—fAEIER &5t 3 %
54090501 % O ff 66090563 i O % 57090883 % O 7&

74040050 B2 O f&
57040411 ZO &



411010--21 AR B AR BEAIRE)

—RAEIER &5F 14 &

61120167 4= O 4 58120029 2= O ## 52520018 i O = 57120138 &L O A5
53520016 BRO & 54520010 $8 O = 51520022 AEO 1A 54520029 B[ O J&£
57120123 R O 3H 51520009 #LO & 54120048 E O 2 54520013 FF O 4%

—EFHI G5t 7 & ERNEE IR
[ 1157120099 = O 45 [ 2154520021 7§ O 5% [ 3157120127 = O #F [ 4157120087 2O &
[ 6157120103 5= O )52 [#5 7157120093 f# O 2&

411011--41 2R B AR B EFETEREFIE)

—fRAEIER &5 1 %
52130062 2L O

—REFI S5 1 £ BRNBFRERRRK
[ 1173130045 #RO %

57120111 #£ O &
54520017 EO=

[#5 5170120123 Br O 2



411012--41 LR B Z(ETREF)

411013 R HE B R EE A (ERAE THEER)

65040009 & O & 56040235 #O0 Z
61040398 5= O /&

411014 A EIREHE ARG RAEHEE)

58090503 & O % 55090198 7& O By
67090205 £ O 24 63090261 {7 O 2!

411015 R HIE R IR E B A (R TREY)

76170079 280 &% 76170024 2 O gl
61171639 [ O 7% 71170356 22 O iy

—HAEIEE &5 6 %
62040058 21054

—RRAEIER &5 7 &
78090004 £ O ML

—EIEE &5 8 &
61170246 FEO &
71170593 {H O £}l

54040247 #H O E

51090182 1R O 4%

61171719 #[ O 4%

62040014 HH O 3k

57090041 BB O #X

67170310 = OfH



—REFHE &5 3 & ERNEEAFHEIEGR
[#5 1157170335 4 0% [#5 2161170680 21O 45 [f#5 3157170487 & O 4

411016--FEEH A (FEEEEHEED

—RETEE &5 6 £
67090135 8 O 35 54090370 G5 O AL 61091546 %% O 5& 56090071 fH OzH
57090547 Z2 O A
411017--EEE L OMNEEEHER)
—MAETER &5 1 £

57160094 =0 =

411018--1b FEEH A (GIEEEIEERE)

—RAEIER &5F 1 %
57530036 £ 011

74090002 & O 7%



411019--FE ket (T AREAESEES)
—REIEE &5F 1 4
62060077 #K£ O Z

—fRAEFH G5 1 & ERNBEREIEX
[{# 1155060007 & O 7%

411020--E ket REETE)

—REIER &5F 12 &

57070066 2= O th 57070042 % O & 61070628 220 #5 57070393 ff O £ 57070421 &5 O j&%
57070026 = O % 57070030 B O 7F 57070377 203 54070217 BE O % 57070197 #£ O &
52070347 #£ O ud 53070007 #F O

—RAEHE G5t 2 & ERRNBFREEERK
[f 1158070021 O [ 2152070043 2IO%



411021--FZ NEtat R (EEEE TR

—fAEIEE &5t 2 %
74530041 RO % 54090390 B O J1&



